
This XML file does not appear to have any style information associated with it. The document tree is shown
below.

<report code="609506011001" form="11" shifr="85-К" year="2023" period="0101" version="29-11-
2023">
<title>
<item name="okpo" value="48821628"/>
<item name="name" value="МБДОУ ДЕТСКИЙ САД С. РЕПЕЦ"/>
<item name="leader_fio" value="Пашенцева Ирина Валерьевна"/>
<item name="responsible_post" value="заведующий"/>
<item name="responsible_fio" value="Пашенцева Ирина Валерьевна"/>
<item name="phone" value="8(47471)36222"/>
<item name="email" value="dsrepets@yandex.ru"/>

</title>
<sections>
<section code="1">
<row code="101">
<col code="3">5</col>

</row>
<row code="102">
<col code="3">2</col>

</row>
<row code="103">
<col code="3">1</col>

</row>
<row code="104">
<col code="3">2</col>

</row>
<row code="105">
<col code="3">1</col>

</row>
</section>
<section code="2">
<row code="203">
<col code="3">31</col>

</row>
</section>
<section code="3">
<row code="301">
<col code="3">31</col>

</row>
<row code="302">
<col code="3">31</col>

</row>
</section>
<section code="4">
<row code="401">
<col code="3">2</col>
<col code="8">2</col>

</row>
<row code="413">
<col code="3">2</col>
<col code="8">2</col>

</row>
</section>
<section code="5">
<row code="501">
<col code="3">30</col>
<col code="8">30</col>

</row>
<row code="513">
<col code="3">30</col>
<col code="8">30</col>

</row>



</section>
<section code="6">
<row code="601">
<col code="3">31</col>
<col code="8">31</col>
<col code="11">1</col>

</row>
<row code="613">
<col code="3">31</col>
<col code="8">31</col>
<col code="11">1</col>

</row>
</section>
<section code="7">
<row code="701">
<col code="3">31</col>
<col code="6">3</col>
<col code="7">7</col>
<col code="8">7</col>
<col code="9">8</col>
<col code="10">4</col>
<col code="11">2</col>

</row>
<row code="702">
<col code="3">14</col>
<col code="6">1</col>
<col code="7">3</col>
<col code="8">4</col>
<col code="9">4</col>
<col code="10">1</col>
<col code="11">1</col>

</row>
<row code="705">
<col code="3">1</col>
<col code="6">1</col>

</row>
</section>
<section code="8">
<row code="801">
<col code="3">10.35</col>
<col code="4">10.1</col>
<col code="5">10.1</col>
<col code="6">10</col>
<col code="12">10</col>
<col code="13">0.25</col>

</row>
<row code="802">
<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">1</col>
<col code="12">1</col>

</row>
<row code="803">
<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">1</col>
<col code="12">1</col>

</row>
<row code="806">
<col code="3">3.35</col>
<col code="4">3.35</col>
<col code="5">3.35</col>
<col code="6">3</col>



<col code="12">3</col>
</row>
<row code="807">
<col code="3">2.7</col>
<col code="4">2.7</col>
<col code="5">2.7</col>
<col code="6">3</col>
<col code="12">3</col>

</row>
<row code="809">
<col code="3">0.25</col>
<col code="4">0.25</col>
<col code="5">0.25</col>

</row>
<row code="810">
<col code="3">0.25</col>
<col code="4">0.25</col>
<col code="5">0.25</col>

</row>
<row code="813">
<col code="3">0.15</col>
<col code="4">0.15</col>
<col code="5">0.15</col>

</row>
<row code="819">
<col code="3">2</col>
<col code="4">2</col>
<col code="5">2</col>
<col code="6">2</col>
<col code="12">2</col>

</row>
<row code="820">
<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">1</col>
<col code="12">1</col>

</row>
<row code="821">
<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">1</col>
<col code="12">1</col>

</row>
<row code="822">
<col code="3">4</col>
<col code="4">3.75</col>
<col code="5">3.75</col>
<col code="6">4</col>
<col code="12">4</col>
<col code="13">0.25</col>

</row>
</section>
<section code="9">
<row code="901">
<col code="3">10</col>
<col code="4">2</col>
<col code="5">2</col>
<col code="6">8</col>
<col code="7">2</col>
<col code="8">2</col>
<col code="10">8</col>

</row>
<row code="902">



<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="10">1</col>

</row>
<row code="903">
<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="10">1</col>

</row>
<row code="906">
<col code="3">3</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">2</col>
<col code="7">2</col>
<col code="8">2</col>
<col code="10">3</col>

</row>
<row code="907">
<col code="3">3</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">2</col>
<col code="7">2</col>
<col code="8">2</col>
<col code="10">3</col>

</row>
<row code="919">
<col code="3">2</col>
<col code="6">2</col>
<col code="10">2</col>

</row>
<row code="920">
<col code="3">1</col>
<col code="6">1</col>
<col code="10">1</col>

</row>
<row code="921">
<col code="3">1</col>
<col code="6">1</col>
<col code="10">1</col>

</row>
<row code="922">
<col code="3">4</col>
<col code="6">4</col>
<col code="10">2</col>

</row>
<row code="924">
<col code="3">3</col>

</row>
</section>
<section code="10">
<row code="1001">
<col code="3">10</col>
<col code="7">2</col>
<col code="9">1</col>
<col code="10">3</col>
<col code="11">4</col>

</row>
<row code="1002">
<col code="3">1</col>
<col code="7">1</col>

</row>



<row code="1003">
<col code="3">1</col>
<col code="7">1</col>

</row>
<row code="1006">
<col code="3">3</col>
<col code="10">1</col>
<col code="11">2</col>

</row>
<row code="1007">
<col code="3">3</col>
<col code="10">1</col>
<col code="11">2</col>

</row>
<row code="1019">
<col code="3">2</col>
<col code="11">2</col>

</row>
<row code="1020">
<col code="3">1</col>
<col code="11">1</col>

</row>
<row code="1021">
<col code="3">1</col>
<col code="11">1</col>

</row>
<row code="1022">
<col code="3">4</col>
<col code="7">1</col>
<col code="9">1</col>
<col code="10">2</col>

</row>
</section>
<section code="11">
<row code="1101">
<col code="3">10</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">2</col>
<col code="7">1</col>
<col code="9">5</col>
<col code="10">4</col>
<col code="14">1</col>
<col code="16">3</col>

</row>
<row code="1102">
<col code="3">1</col>
<col code="7">1</col>
<col code="10">1</col>
<col code="14">1</col>

</row>
<row code="1103">
<col code="3">1</col>
<col code="7">1</col>
<col code="10">1</col>
<col code="14">1</col>

</row>
<row code="1106">
<col code="3">3</col>
<col code="9">3</col>
<col code="10">3</col>
<col code="16">3</col>

</row>
<row code="1107">
<col code="3">3</col>



<col code="9">3</col>
<col code="10">3</col>
<col code="16">3</col>

</row>
<row code="1119">
<col code="3">2</col>
<col code="9">2</col>

</row>
<row code="1120">
<col code="3">1</col>
<col code="9">1</col>

</row>
<row code="1121">
<col code="3">1</col>
<col code="9">1</col>

</row>
<row code="1122">
<col code="3">4</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">2</col>

</row>
</section>
<section code="12"/>
<section code="13">
<row code="1301">
<col code="3">1</col>
<col code="4">1</col>
<col code="5">1</col>
<col code="6">1</col>
<col code="7">1</col>
<col code="10">1</col>
<col code="11">1</col>
<col code="12">1</col>
<col code="14">1</col>
<col code="15">1</col>
<col code="18">1</col>

</row>
</section>
<section code="14">
<row code="1401">
<col code="3">1</col>
<col code="5">1</col>

</row>
</section>
<section code="15">
<row code="1501">
<col code="3">1</col>

</row>
<row code="1502">
<col code="3">1</col>

</row>
<row code="1503">
<col code="3">1</col>

</row>
<row code="1504">
<col code="3">2</col>

</row>
<row code="1505">
<col code="3">2</col>

</row>
<row code="1506">
<col code="3">2</col>

</row>
<row code="1507">



<col code="3">2</col>
</row>
<row code="1508">
<col code="3">2</col>

</row>
<row code="1509">
<col code="3">2</col>

</row>
<row code="1510">
<col code="3">2</col>

</row>
<row code="1511">
<col code="3">2</col>

</row>
<row code="1512">
<col code="3">2</col>

</row>
<row code="1513">
<col code="3">2</col>

</row>
<row code="1514">
<col code="3">1</col>

</row>
<row code="1515">
<col code="3">2</col>

</row>
<row code="1516">
<col code="3">1</col>

</row>
<row code="1517">
<col code="3">1</col>

</row>
<row code="1518">
<col code="3">1</col>

</row>
<row code="1519">
<col code="3">2</col>

</row>
<row code="1520">
<col code="3">2</col>

</row>
<row code="1521">
<col code="3">2</col>

</row>
</section>
<section code="16">
<row code="1601">
<col code="3">273.3</col>
<col code="6">273.3</col>

</row>
<row code="1602">
<col code="3">90.5</col>
<col code="6">90.5</col>

</row>
<row code="1603">
<col code="3">3562</col>
<col code="6">3562</col>

</row>
<row code="1604">
<col code="3">942.6</col>
<col code="6">942.6</col>

</row>
</section>
<section code="17">
<row code="1701">



<col code="3">1</col>
</row>
<row code="1702">
<col code="3">2</col>

</row>
<row code="1703">
<col code="3">2</col>

</row>
<row code="1704">
<col code="3">1</col>

</row>
<row code="1705">
<col code="3">2</col>

</row>
<row code="1706">
<col code="3">2</col>

</row>
<row code="1707">
<col code="3">2</col>

</row>
<row code="1708">
<col code="3">2</col>

</row>
</section>
<section code="18">
<row code="1801">
<col code="3">2</col>
<col code="4">2</col>

</row>
<row code="1802">
<col code="3">2</col>
<col code="4">2</col>

</row>
<row code="1804">
<col code="3">2</col>
<col code="4">2</col>

</row>
<row code="1805">
<col code="3">1</col>

</row>
<row code="1809">
<col code="3">1</col>

</row>
<row code="1810">
<col code="3">1</col>

</row>
<row code="1811">
<col code="3">2</col>

</row>
</section>
<section code="19">
<row code="1901">
<col code="3">5280.4</col>
<col code="4">4897.4</col>

</row>
<row code="1902">
<col code="3">4897.4</col>
<col code="4">4897.4</col>

</row>
<row code="1904">
<col code="3">3579.8</col>
<col code="4">3579.8</col>

</row>
<row code="1905">
<col code="3">1317.6</col>



<col code="4">1317.6</col>
</row>
<row code="1907">
<col code="3">383</col>

</row>
<row code="1910">
<col code="3">10.1</col>

</row>
<row code="1911">
<col code="3">26.2</col>

</row>
</section>
<section code="20">
<row code="2001">
<col code="3">5078.9</col>
<col code="4">4711.9</col>

</row>
<row code="2002">
<col code="3">4160.3</col>
<col code="4">4160.3</col>

</row>
<row code="2003">
<col code="3">349.4</col>
<col code="4">349.4</col>

</row>
<row code="2004">
<col code="3">20.3</col>
<col code="4">20.3</col>

</row>
<row code="2005">
<col code="3">548.9</col>
<col code="4">181.9</col>

</row>
<row code="2006">
<col code="3">185.4</col>
<col code="4">185.4</col>

</row>
</section>
<section code="21">
<row code="2101">
<col code="3">8.3</col>
<col code="5">3196</col>
<col code="8">3196</col>

</row>
<row code="2102">
<col code="3">1</col>
<col code="5">579.5</col>
<col code="8">579.5</col>

</row>
<row code="2103">
<col code="3">1</col>
<col code="5">579.5</col>
<col code="8">579.5</col>

</row>
<row code="2106">
<col code="3">2.6</col>
<col code="5">1380.2</col>
<col code="8">1380.2</col>

</row>
<row code="2107">
<col code="3">2.6</col>
<col code="5">1380.2</col>
<col code="8">1380.2</col>

</row>
<row code="2109">



<col code="3">2</col>
<col code="5">233.9</col>
<col code="8">233.9</col>

</row>
<row code="2110">
<col code="3">2.7</col>
<col code="5">1002.4</col>
<col code="8">1002.4</col>

</row>
</section>
<section code="22">
<row code="2201">
<col code="3">17.5</col>

</row>
<row code="2203">
<col code="3">17.5</col>

</row>
<row code="2209">
<col code="3">17.5</col>

</row>
<row code="2210">
<col code="3">12.7</col>

</row>
</section>
<section code="23">
<row code="2301">
<col code="3">17.5</col>

</row>
<row code="2303">
<col code="3">17.5</col>

</row>
</section>

</sections>
</report>


